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Ch- Addition

BASED ON N.C.E.R.T

Q. Arrange in columns and add together :-

a. 42112 + 32122 + 5434 =. 4 2 1 1 2

+ 3 2 1 2 2

5 4 3 4

7 9 6 6 8

b. 50505 + 5001 +50102 =

C. 11211 + 21221 + 33133 + 423 =

d. 20001 + 31211 + 1122 =

e. 12145 + 65442 + 345936 =

f. 346345 + 50164 + 345 + 20 =

g. 701099 + 90350 + 65432 + 39 =



Q. Add the following :-(with carrying)

Q. Addition of Large Numbers:-

Q. Word problem :-
a. There are 29,435 bags of rice, and 49,233 bags of
sugar in a godown. Find the total number of bags in
the godown.
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